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Question Number : 1 Question Id : 2839364321 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Puftballs belongs to the following class

Herd) 1Bod #8838 Todo
Options :

Phycomycetes

= =1 E,
28303617281, % 25 DVEIV

Ascomycetes

=] E,
28303617280, % BT LDV

Basidiomycetes

L=] =] =.
28303617283, v BDVGOIDVER

Deuteromycetes

=] =,
28393617284 % CDSSODIESD

Question Number : 2 Question Id : 2839364322 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Organisms of Monera having pseudomurein cell walls are producers

of biogas (Methane)

Reason (R) . Archaebacteria present in the gut of raminant animals like cows,
buffaloes produce Methane (Biogas)

33850 (A) T D0Q0E TOOS Bhen Sr&Nureds o SNoren $O eod
DTBITTFED (D) o0 Ered ey Tarow

=50 (R) L esyen, BT eroed ErdnTeS 2oy e36)2rE000 Goeo

50 B (22TBFTER) o ereh Y83 T o
The correct option among the following is
& 1806 DDITOS HOTIE
Options :
(A) and (R) are true. (R) is the correct explanation for (A)
18393617285, % (A) 08AW (R) DB8TAD. (A) 8 (R) QO DG

(A) and (R) are true, but (R) is not the correct explanation for (A)

(A) 1s true but (R) 1s false
28393617287, % (A) V230 5°Q (R) S

(A) is false but (R) is true
28393617288, % (A) S3)) 5°Q (R) dz0

Question Number : 3 Question Id : 2839364323 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the correct statements

I.  Like fossil plants Pongamia produce petrol due to the presence of hydrocarbons

II.  Chlorella is a single cell protein
III. Branch of Botany deals with the study of different tissues and internal details
of plant organs is morphology

V. zolla, Nostoc and Anabaena help in recycling of nutrients as Biofertilizers.
QOO T EWEOAD o)add) Fadad
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€rehyed AR
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Options :
28393617289, * UL IV

28393617290, ¢ L, IL TV
28393617291, % 1L, 111

28393617292, % L 11

Question Number : 4 Question Id : 2839364324 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the correct statements

In liverworts, mosses and ferns gametophytes are free living
Sporophyte in mosses are more elaborate than in liverworts

In Gymnosperms and Angiosperms gametophytes are independent
Pinus and Cycas are dioecious

Cnwpy

QOO T EDEOID oo Faladw

A, OIBIT o0, ArDen SHBCH B © S0 HOTIFE Dascren & oo
2B TOM

B. 38500 Som), SrRedy 2 Dadh &% (Hoedhd e &%

C. DSYeh Darew, e355y85 Dererdd NOTBFHD2Ten D50 TS

D. 258508050 D80 QEOomrEaiuen

Options :

A and C are correct
28393617203, % A 080 C DO

A and B are correct

28393617294, ¢ A HBasw B ‘ﬁa@rﬁa

A, B and C are correct
28393617295, * A B a08ai0 C Q8D

A, B, C and D are correct
28393617296, # A B C ‘ﬁ}ﬂd’l):) D rﬁ@@){ﬁa

Question Number : 5 Question Id : 2839364325 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The following is extracted from Laminaria

BoBFES erDTOATT 0 HOHSTFoHESE
Options :

Algin
28393617207, % BLS

Agar
28393617298, % &TD

Iodine
28393617299, v TNAS

Carrageen

28393617300, % SOHD

Question Number : 6 Question Id : 2839364326 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Following has radially expanded cells with fibrous thickenings

180B S’ Bezren s dorrT arf, 00 DO EOR G0
Options :

Tapetum

28393617301, % TR

Endothecium
=)
18393617302, ¥ DOEHAD0

Endothelium
28393617303, % OBBOAADO

Pericycle
28393617304, % OTIESD

Question Number : 7 Question Id : 2839364327 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Sporopollenin is one of the most resistant organic material called
Intine

Reason (R) :  Exine can withstand high temperatures, strong acids, alkalies and
cannot be degraded by enzymes

Q3 yed0o (A) - eébg0ed DEGOE (resistant), DOIOGH HTPFS FITTOIS &
2D T VOEFrD

=&20 (R) T DB S @S0 @68 &EFISBeD, DTS ), UG SEPE N
SHOCIN OB T D5

The correct option among the following is
&: 208 D IFOS HOTSE
Options :
(A) and (R) are true. (R) is the correct explanation for (A)
18393617305, % (A) aDOAW (R) DEDID. (A) § (R) SO DadGe

(A) and (R) are true, but (R) is not the correct explanation for (A)
28393617306, % (A) 08050 (R) SO, (A) § (R) DODS DeISE 570

(A) is true but (R) is false
28393617307, % (A) D20 5 (R) Sa))

(A) 1s false but (R) is true
28393617308, ¢ (A) &) 5 (R) dz0

Question Number : 8 Question Id : 2839364328 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the correct pair of plants in order showing the following features

A. Medicinally important plant and a tendrillar climber with unisexual flowers

B. Spice yielding plant with cymose inflorescence, persistant calyx, unilocular ovary

SBOT &= (oD @ F 770 T DOTD FnE e HBoDH S
A. DEOOKE HTyew, OBH & EY, S0DETS LA Do)

B. 33 i) rgdenn, HY 5°O¥ SEE Higrd@, 8 Hecine evomiohdn EOAD
K080 (5550 Atk Fody
Options :
Ruscus, Capsicum
28393617309, % O, STIE0



Smilax, Solanum
18393617310, ¥ R2€T°5), &FErS0

Asparagus, Capsicum
18393617311, % SBRITHR, )80

Smilax, Capsicum
28393617312, ¢ 225, S* )80

Question Number : 9 Question Id : 2839364329 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Bicollateral vascular bundles are found in
B LTS 5 @5 Hoaren QAN

I.  Roots of solanaceae members
FOTD I e I8

II. Stems of solanaceae members
FOTD Do somed

III. Leaves of solanaceae members
FOTD Ing e HEeds

IV. Stems of liliaceae members
OOTHD FIng o somerd
Options :
[, 11, III only
28303617313, % L 11, TII S &3

IT and IV only

28303617314, % 1L <DOA IV 353

I only
28393617315, v 1 TS

28393617316, # L. 11, L 1V

Question Number : 10 Question Id : 2839364330 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Carpels and Stamens are in 1:2 ratio in the following family

Hexderen B0 Baoren 1:2 A8 ¢ B SoenooeS Goenod



Options :
Brassicaceae
FARAISTS
28393617317, # (&

Solanaceae
28393617318, ¥ PO

Fabaceae
=]
28393617319, ¥ A&

Liliaceae
28393617320, ¢ OO

Question Number : 11 Question Id : 2839364331 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify Amembraneous cell organelles

&b ed8ared Segrorredcd MO0y
Options :

Ribosome, Nucleolus

58393617321, v OB &Fa, Bo|isr0Fam

Nucleolus, Lysosome

28393617307, % SOLESOF0, BRI

Peroxisome, Nucleolus

28303617323, % VO"SITD, Elellaisel VW

Ribosome, lysosome

28303617304, % OB a0, BIFD

Question Number : 12 Question Id : 2839364332 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A): Ions and organic material concentration is higher in cytoplasm than
vacuole
Reason (R): Tonoplast facilitates the transport of ions and other materials against
concentration gradient into vacuole
D350 (A): 05, B DOOCH Hgre) meseh 685 S'Her £3)
Zea1d550¢T eHEo
58220 (R): 88% ¢ (tonoplast) eadirS e3e SO QebS DHrgrered meseh
195522650250 53BBE OIS’ 685 S8 SarerHd HITEBN0S
The correct option among the following is
&: 806 0D IFOS HOTIO
Options :
(A) and (R) are true. (R) is the correct explanation for (A)
18393617325, % (A) «00A%W (R) S8HSD. (A) 8 (R) SO DG

(A) and (R) are true, but (R) is not the correct explanation for (A)
28393617326, % (A) OAW (R) OGN, (A) § (R) SO Da3Ged 5°¢

(A) is true but (R) is false
28393617327, % (A) Q20 5% (R) &)

(A) is false but (R) is true
18393617328, ¢ (A) €3y 5% (R) Q220

Question Number : 13 Question Id : 2839364333 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the wrong statements

A. Polymers of polysaccharides, fats and proteins are synthesized from monomers
by ionic bonding

Molecules with polarheads and hydrophobic tails are present in cell membrane
Left end of protein chain is N-terminal end

Right and left handed helices are observed in protein

onw

LIRNABM oWV VTS EWEa MeTo s MW
A, FOFEBEG FONE), (Fe9 50 OG5 |5F3S e IrSHnb © easrdE oo
DoF0TID.

B. Ze2¢550906F 385 sheren e eaemsyen sHoasn e DEYE SEen oerow
C. 18638 Fendd e 5 N-8335 &5
D. 158 S 50839, DS0BD) DBIere BedD0ISTN )

Options :



28393617329, # A & B
28393617330, % B & C
28393617331, ¥ C & D

28393617332, ¢ A& D

Question Number : 14 Question Id : 2839364334 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A) - Syncytium is the result of karyokinesis not followed by
cytokinesis

Reason (R) - In plant cells, middle lamella formation starts from centre and
grows outwards of the cell and leads to cell wall formation

DPb0 (A) 1 BoOE D0t B0 Sealdads Deiesed BOHE SFeHed SO
2TVE0|SE D B0

=50 (R) © S8 EeredS 0SiHedOE dorien 20 o o D815

TeHO) BB KM T 50° 4SS DTIENEL TFOBN0S
The correct option among the following is
&: 12806 2 IFOS HOTIS
Options :
(A) and (R) are true. (R) is the correct explanation for (A)
18393617333, % (A) 08 (R) S8R, (A) 8§ (R) SO Dadded

(A) and (R) are true, but (R) is not the correct explanation for (A)
12303617334 ¢ (A) 0800 (R) SO, (A) 8 (R) SO Deddea 5°¢0

(A) is true but (R) is false
28393617335, % (A) Q20 5% (R) 3y

(A) 1s false but (R) 1s true
28393617336, # (A) 8] 5 (R) Qzz0

Question Number : 15 Question Id : 2839364335 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Cell that do not divide further due to the following changes in cell cycle

0 B0 (B0B S Ie 58 80 ST b D5escdEy H85c.
Options :



Exit G and enter S phase of cell cycle
18393617337, # 589 (5085 G o0& DD oD S B3’ (HS20DS

Exit Go and enter G| phase of cell cycle
18393617338, % 589 (8065 Go o0& Sl G B34S |HIR0DS

Exit G and enter Go phase of cell cycle
18393617339, ¢ 589 BIE0S° Gi 0d Soof Gy &3S’ D300

Exit interphase and enter M phase
28303617340, % DOSEF 0B SO M SIS (HIFoDS

Question Number : 16 Question Id : 2839364336 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the meiotic stage in which the homologous chromosomes separate while

the sister chromatids remain associated at their centromeres
PSS |E ST e3¢ oIS TOND © 5O EerD 55y D638 Doveres (EFRrarFmen

DEFTH § oHESed Desass e MO
Options :

Metaphase — |
28393617341, % S0AFRSF — 1

Metaphase — 11
28393617342, % SVCFHF — 11

Anaphase — [
28393617343, ¢ LIOACE — 1

Anaphase — I1
28393617344, ¥ w©E — I

Question Number : 17 Question Id : 2839364337 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the monocot root characters
DESEDE I o c7rerddd HO0THAD

I. Polyarch condition
TG ¥ Ped
II. Large pith
8 888
ITII. Presence of bundle sheath

023 S Godhoed
IV. Scattered vascular bundles

DTHE TV Hoaren

Options :
I and III only
28393617345, % 1 0008w IIT &5
I and II only
I356cn I Sfri‘[héfm
28393617346, ¥
II and III only
28393617347, % 1L 00050 IIT 5535
IV only
IV Sre5 5

28393617348. #

Question Number : 18 Question Id : 2839364338 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the plants in the order of Ephemeral, Succulent and Non - succulent type
e 15°8E, $02i068 DA B8O 55 JELD S HBooHk
Options :
Tribulus, Solanum, Casuarina
28393617349, % 3OV, FO I, 7278

Casuarina, Tribulus, Opuntia

28393617350, % SE8, (3200, 2,000

Aloe, Casuarina, Tribulus
28393617351, ¥ O, S2B, (Swed



Tribulus, Aloe, Casuarina
28303617352, ¢ (SO, &', 5723

Question Number : 19 Question Id : 2839364339 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the correct statements

A. Porins allow the entry of small proteins present in the membrane of mitochondria,
chloroplast and bacteria

B. When a living cell is kept in hypertonic solution, water potential is equal to solute
potential

C. Carrier proteins will allow entry of all substances across the membrane, whereas
pumps transport large molecules in a passive method

D. Bulk flow occurs by diffusion

o8O STEWEEAD oo Teddadd

A, D 503D, FETR DO erEBOF 5506 &0l FOI) DS 15%¢3S
EE0H (DBTR), WeDDEIT O,

B. 2.5 5285870 0% rdediier |0 oSS 3853050,
| 5 FE 26300580 cdadTrdedd

C. ours [99e3S en 665050 @0ty @) DT (HITR), e90sDHBT 0w, 5P
HOD 0 DE 2309060 DD AT DABES Bared Tarow

D. QroRasro a8 o o 3SMHhenod

Options :

28393617353, ¢ A, B

28393617354, % C, D
28393617355, % A D

28393617356, % B, C

Question Number : 20 Question Id : 2839364340 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following
List-TI (Element)
A. Iron
B. Manganese
C. Magnesium
D. Molybdenum

Bo® AR 23¢500T0S 30
DHe3¥ -1 (Horer¥dn)

A 2050 (288)

B. o

C. DAyaaHo

D. S55®8)dS0

Options :
28393617357, ¥ A=, B-1V, C-I,

28393617358, * A—V, B-II, C-I,
28393617359 ¢ A—=1V, B-V, C-1I,
23393617360, # A—1I,  B-IIIl, C-1,

Question Number : 21 Question Id : 2839364341 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The mineral elements required for carbohydrate translocation, photolysis of water and

for chlorophyll synthesis are respectively

sH)TEE © Forosdndy, Fos e JFNLH O HHTOS Hodnado

9550800308 23 sTrerseen ST
Options :
Boron, Manganese, Zinc

Nz 1 ® S8, S0, 2208

Boron, Chlorine, Iron

, 500, ¥68, 88
28393617362. ¥

List-II (Activator of)

I. RUBISCO

II. Cytochrome “C’ oxidase
III. Nitrogenase

IV. Catalase

V. IAA oxidase

He3E . II (& B22508 )
L S,
II. 2D ‘C es8 35
1. S S2Jes
IV. 2089
V. TAA es8 35

11

D —III

11

D-V



Molybdenum, Copper, Magnesium

28393617363, ¥ SrOPSo, 556 ,Hofiycho

Molybdenum, Copper, Iron
18393617364, % SrOBS0, 5586, 0ES

Question Number : 22 Question Id : 2839364342 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

List — 1 List —1II List —III
A. Photo autotrophs 1. Oxidation of Inorganic substances P. Bacillus
B. Photo heterotrophs ii. Organic detritus Q. Beggiota
C. Chemo autotrophs iii. Organic COz R. Chromatium
D. Saprophytes iv. Atmospheric CO: S. Rhodospirillum

15od TAR 25D

SHE3E 1 K)@é— I1 HE3E — 111

A. 508 HiohoSFas en i. AboOOH Dorfe el g P, QR

B. o0& HSFaEen TR ol{AToM R {[ATATS) Q. arfiairer

C. S30Hs Ssohoserey il 2odaD COs R. [EHho%o
D. Jradse SPEen iv. r&rdden CO: S. B& 0N
Options :

28393617365, ¢ A—iv—= R, B-iii-§, C-i-Q, D-ii-P
18393617366 ¥ A—iv—-R, B-i-Q, C-iii—-8, D-ii-P

2393617367, # A— iv=P, B-i-8, C-iii—-Q, D-ii—-R
28393617363, ® A—iv—=S8, B-iii—-P, C-ii-R, D-i-Q

Question Number : 23 Question Id : 2839364343 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Kranz anatomy is a characteristic feature of C4 plants
Reason (R) : Photorespiration is absent in C4 plants

AP0 (A) (57025 @08 U0 trddho Cs JwE) e ef cadw
520 (R)  : Cq InE;eeS 5708 701805 &0SS

The correct option among the following is
&: 1806 IFTOS HOTSA
Options :
(A) and (R) are true. (R) is the correct explanation for (A)
78393617369, % (A) sDB8CW (R) DEDID. (A) § (R) SBQDHS Dad8€D

(A) and (R) are true, but (R) is not the correct explanation for (A)
18393617370, ¢ (A) 08050 (R) HOQDID, (A) 8 (R) 8D S8 57

(A) is true but (R) is false
28393617371, # (A) Q230 5°Q (R) &)

(A) is false but (R) is true
18393617372, % (A) &) 5°R (R) Q220

Question Number : 24 Question Id : 2839364344 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

List — I (Cycle/fixation name) List — II (Product formed)
A) First stable product of TCA cycle i) Ammonia
B) First stable product of C; cycle ii) 3 PGA
C) First stable product of C4 cycle i) OAA
D) Product of nitrogen fixation iv) Citric acid
Bo& Q) 238550t
DHEE ~ 1 (H0TH0 / P ) HEE — I (S0 Hgo)

A) TCA ScHoS" Incsed G Hrgasm i) RV

B) (3500906 30¢5¢3 S Hedasn ii) 3 PGA

C) Ci300%08° IJncde3 PE Har@asn iii) OAA

D) &b rHSeS &¢38)0 iv) 21¢35 esso
Options :

28393617373. ® A‘ii, B‘l[l. C‘i, D“i.V



28393617374, % A-iil, B-ii, C-iv, D-i
28393617375, ¢ A-1v, B-i1, C-ii1, D-i

28393617376, % A-i, B-iv, C-ii, D-iii

Question Number : 25 Question Id : 2839364345 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the following:
List — I
(Compound oxidised)
A. Succinic acid
B. @ -keto glutaric acid
C. Iso citric acid
D. Pyruvic acid

Bo& A 235Kt
HEIE — [(e38 188560 ToOIHE0o )

A. 08305 a0
B. @a-8&& 5erss essvo
C. (¢35 ead0
D. 2&8raS esano
Options :

28393617377, % A-L, B-III, C-IV, D-1I
28393617378, % A-L, B-II, C-III, D-IV
28393617379, % A-III, B-I1I, C-I, D-IV

28393617380, ¢ A-1V, B-Il, C-III, D-1

List — I

(Compound formed)

I.
1.
L.
IV.

I1.
I11.
V.

Acetyl COA
Succinyl COA
Oxalosuccinic acid
Fumaric acid

DEE — (S IAS dzgo )
e2®S COA
58,35 COA
357165 D8 IVE @A
5o 08 esoDedn

Question Number : 26 Question Id : 2839364346 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0



Identify correct statements

(A) 2, 4-D used to kill dicotyledonous weeds

(B) Auxins promote flowering in Pine apple

(C) Ethyle reduces the respiration rate during ripening of fruits
(D) ABA - Initiate flowering in mango

O T WD DB 0PI

(A) &5 Send) gy edd HodHERE 2, 4-D D &IBrhardd
(B) a5 H&F)65 183D 3833 en DotHed
(C) Hered HE 55 H0aH0T RGOS 725 180D Bened ot
(D) ABA — Sr0AS HTEI$I18 HBD0H®
Options :
A and B are correct
28393617381. ¢ A 8o B 5'356_331—333

B and C are correct
28393617382, % B 2000 € SO

C and D are correct
28393617383, % € 08I0 D 26QDS)

D only correct
28393617384, % D SIS SOFSA

Question Number : 27 Question Id : 2839364347 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Study the following lists

List—1I List—1II
A) Conjugation I) Lederberg and Tatum
B) Transformation II) Zinder and Lederberg
C)  Transduction III) Koch
D) Five kingdom classification IV) Frederick Griffith
V) Whittaker
The correct match is
180D 2rdErercd e958AHS0 O
eridee — 1 erider — 11
A)  Dodsnisaw I) S&5 20 N6 eredd
B) 208 56588 II) 220c0 HOC B0 b
C) 230§ oSaTededdd ) s%5
D) w&orerse S8%Se IV) |=¢05 ADe
V) 2ersb
QOIS 23¢h
Options :

28393617385, % A-L B-111, C-1V, D-V
28393617386, ¢ A-l, B-1V, C-II, D-V
28393617387, % A-III, B-1, C-II, D-V

28393617388, ¥ A-1, B-III, C-V, D-11

Question Number : 28 Question Id : 2839364348 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Viruses cannot multiply unless they invade a specific host cell and
instruct its genetic and metabolic machinery to make and release
daughter or progeny viruses

Reason (R) : Viruses are obligate intracellular parasites

A0 (A) 1 IED e @6 Tow Ferd) @ED oo SEH e H5980 TodBY Hdain
a7¢3 220508, 285 |8ASr Ciro(@5R)) DoBE (DOFE) DA S ADF0BBY
580 (R) 1 382 en 8o Serodd Horay), edaen

The correct option among the following is
& 1808 DDITOS HDOTIO

Options :



(A) and (R) are true. (R) is the correct explanation for (A)
28393617389, « (A) 0OAW (R) DOTAD. (A) § (R) SO DSSe

(A) and (R) are true, but (R) is not the correct explanation for (A)
28393617390, % (A) sDBAKW (R) SO, (A) 8 (R) DO Dd8e 5°¢H

(A) is true but (R) is false
28393617391, * (A) A230 S (R) )

(A) is false but (R) is true
28393617392, % (A) &) 5 (R) Q2z0

Question Number : 29 Question Id : 2839364349 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fi generation resembles both the parents in this phenomenon

& 59R 5000065 Bse3esS0 (Fi) Both 355006 iy SO
Options :

Incomplete dominance
28303617303, % SVOIQ QS 50

Co-dominance
28393617394, ¢ QT DT RS SO

Pleotrophy
28393617395, % ROSTE’D

Complete dominance
28393617396, % V0YQ TGS 50

Question Number : 30 Question Id : 2839364350 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Mutations in Oenothera lamarckiana plants was first identified by
&5 183875705 & ST ea5r8) airmr BnE; oS Ie3Tom HO0DSH
Options :
Hugo de Vries
28393617397, ¥ VAN



Morgan
28393617398, ¥ TR

Sutton
28393617399, ¥ V@M

Boveri
28393617400, % &R0

Question Number : 31 Question Id : 2839364351 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the correct statement

I) Alleles are unable to blend with other

II) Alleles are units of inheritance and slightly differ from the same genes

IIT) Mendel laws did not provide any proof for the existence of genes

IV) Genes are independent pairs segregate independent of each other.

BTN T EW IO e Trdadwn

I) asoigageryen Pebo TSN

II) csniz DEeryen HoEade |Hreren BN e 2o FOT S
III) 225059 588 [0SO QFEPen DEerots 8rrTra)), LIrn ey

IV) 2368083900 & 5650(¢h 23ehen, D 5B0|BOTT 2.5 RTEEE HYdE) S0 Totwd

Options :
28393617401, v L 11, IV

28393617402, ¥ 1, IL, TII
28393617403, % 1 1L IV

28393617404, ¥ 1L, IIL 1V

Question Number : 32 Question Id : 2839364352 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the incorrect combination

Q85°Q 2edadd MBO0YaI0
Options :



RNA polymerase I - rRNA
28393617405, ¥ RNA 35BS I - rRNA

RNA polymerase I - hn RNA
28393617406, ¥ RNA ar&0es IT - hn RNA

RNA polymerase Il - m RNA
18393617407. ¥ RNA &S 11 - m RNA

DNA polymerase — DNA
28393617408, ¥ DNA rd:005 — DNA

Question Number : 33 Question Id : 2839364353 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following in ascending order

(I) Number of stop codons
(IT)y Number of sense codons
(IIT) Number of types of amino acids
(IV) Number of types of Nucleosides
1808 T esF5ren 1555055065 @958 1630
(I) QenHde TS e dops
(II) edS06 s e Hopg
(1) @S essrer S57e> Howe

(IV) &r380rnb o Ssvo dowg
Options :
28393617409, % HIL IV 11

28393617410, # 1 1L, 1V I
28393617411, % UL IL 1 IV

28393617412, « L IV, 1L 11

Question Number : 34 Question Id : 2839364354 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the genes of Lac operon with their respective products
o8 LTS B0 a7e3 Ty D00 reb 1EOE 23eHDBTAD

List—1 List —1II
HEIE -1 HE3E 11
A) 1gene I) p— galactosidase
i 2360859 B— rofEo
B) zgene II) Permease
Z 23600559 200500
C) agene ITI) Repressor
a 23608 B10D
D) vygene IV) Transacetylase
V 23c08:9 S ) ST S0

Options :

A-1V, B-II, C-1I, D-1
28393617413

28393617414, % A-1, B-II, C-IV, D-III

28393617415, ¢ A-IIL, B-1, G-IV, D-II

A-II, B-III, C-I, D-IV
28393617416 *

Question Number : 35 Question Id : 2839364355 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Study the following list

List—1 List—1I
A)  Exon [) Fragment of DNA coding for polypeptide
B)  Intron IT) Non-coding sequence of DNA
C) Cistron [II) Coding sequence of DNA
D)  Sigma factor [V) Imitiator of transcription in prokaryotes

V) Termination of transcription
Correct match 1s

1808 HEIED 98550550 TOSwedn
HEIE -1 5638 — 11
A) IS ) FODRG FAOR % 5500 DNA Sn8)
B) as1&@S [I) DNA &% SG&0h [$e0e0
C) DTS [II) DNA §&0f ($s0em
D) 2 ssio IV) ZBol&% 556 2o eodhSpdodh
050 280D
V) 080080 Snfo)
DOTS 236
Options :

28393617417, ¢ A-IIL, B-11, C-1, D-1V
28393617418, ® A-IIL, B-1I, C-V, D-IV
28393617419 % A-ll, B-I, C-11, D-IV

28393617420 % A-IIL, B-11, C-1V, D-1

Question Number : 36 Question Id : 2839364356 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is required to precipitate purified DNA from solution

& 1808 TS (05690 D0 HO TH 2GS DNA & 0358 Horr Soswerdo
OSDE DI
Options :
Chilled calcium chloride
28303617421, % VRVBDS s°Qcho §3&

Chilled ethanol
78393617422, ¢ WL 28AS adTS



Chitinase

28393617423, ® @{5‘3%£

Ethidium bromide
28303617424, % VOGODO (S DG

Question Number : 37 Question Id : 2839364357 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In genetic engineering antibiotics are used as

23635 20BANO0A Dd0 & e30e30TBre35 ) D Qe GHITATED
Options :

For keeping cultures free of infection

28393617425, ¥ 5830 JdE 328 Barehorr erodddo §do

To select healthy vectors
28393617426, % SOHIEEDS FFEFOD D) FHOR

As selectable markers
18393617427, o DONE TODSAS 85285 enrr erHaIrAocherFy

As sequence to start replication
28393617428, % €ODW ($050 (PE0HOE

Question Number : 38 Question Id : 2839364358 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The technique used to detect the antibodies synthesised by host against the pathogen

T30 2558 S5RBE0M DOTNOBDAD 1D 857 & HB0T FoBBE HAB A
Options :
Polymerase Chain Reaction

28393617429, % T ONTO TS OBrES

ELISA
28393617430, ¥ DO

DNA finger printing
28393617431, % DNA JO0(hed



RNA interference
28393617432, ¥ RNA S5e38680

Question Number : 39 Question Id : 2839364359 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select correct statements
I) IRs 1s a semidwarf variety of rice developed in India
IT) Hybrid sugarcane show high sugar and high yield
I1T) Hybrid millets are resistant to water stress
IV) Sonalika 1s a high yielding and disease resistant hybrid variety
DOTDS T LWL Do) Td0GH
I) 78 8 oendd 830 IRg 36 8597, erdeB30eS SrerodTEd

IT) 280705 TEYS 0 D50 BHDA ZFE)E TER e
III) 37& QBTS00 3 QB SEPTT Ssren
IV) @55 HHAR, i ABSE 383 00 36 S%0 Fard¥

Options :
28393617433, % 1, 11, I

28393617434, ¢ 11, 111, IV
28393617435, # L 1L 1V

28393617436, * L I, TV

Question Number : 40 Question Id : 2839364360 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is produced during microbial or biological treatment of
sewage in strict anaerobic condition.

g2 1B Sor £ D008 VS5O 507 ED ISV a0l RS SniHhdes
HO D30 BKHH 73S &) ST
Options :
Primary Sludge
28393617437, % (B8 30 HEFO



Biogas
B,
28393617438, ¢ QCIFTT§ed

Activated Sludge
28393617430, % SIS EIE (HHB) S Horgo

Primary effluent
28393617440, % PRDE (AaS S5Q0

Zoology

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear
Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

28393698
2

Online
Mandatory
40

40

40

Yes

0

1
28393698
Yes

null

Question Number : 41 Question Id : 2839364361 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which taxonomie hierarchy contains organisms belonging to the same class but not

to the same family?

D 50856 @0sNS’ 28 DerrRd TohS £Hen GoLrow. SR 8 Henoerdd

DOAS 2Bayen rochay?
Options :
Genus

28393617441, * (02T

Order

28393617442, ¢ (800

Family
28393617443, ¥ 5000200



Population

28393617444, % &eI°EF"

Question Number : 42 Question Id : 2839364362 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find out the wrongly matched pair

&% 1808 ¢3S’ HOTDS 26 A
Options :
Tiger-Panthera tigris

28393617445, % IO - JOLO” PUAR

Red panda- Ailurus ochraceus

28393617446, ¥ IO TOEF -V @S"DADD

Pigmy hog- Grus leucogeranus
28393617447, & VI HOG - (f O CTEBTWR

The black buck-Antelope cervicapra
28303617448, % 509 208- QoSS DB, 5%

Question Number : 43 Question Id : 2839364363 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The long non motile cilia like processes present in the epididymis are

JIDABDD ¢SGR 90 Boreh FOEEN eFTF SO DT ETED
Options :
Stereocilia

5 5
18393617449, ¢ ®OTBFROCITeN

Microvilli

28303617450, % E.3LAEED

Brush border cilia

28393617451, ¥ S00TH®OLRE 2O ASren



Villi

28393617452, % TOASTED

Question Number : 44 Question Id : 2839364364 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

1Bo& T7¢3Q 3¢5 58504,
List-I List-II
S ER-] SGN-11
A. Chondrocytes I. Liver
5Ol Y SSONO
B. Dendrites II. Muscle
To|BOe goedo
C. Sarcolemma I1I. Cartilage
) B2 YV
D. Haversian canal IV. Nerve cells
THBADS Hooos T SeTren
V. Bone
e
Options :

28393617453 ¥ A=1, B-1III, C-IV, D-V
28393617454 « A—1II, B=1V, C-1II, D-V
78393617455, ® A= B-1V, C-L, D-V

28393617456, % A=1, B—IV, C-V, D1

Question Number : 45 Question Id : 2839364365 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which cells of nervous system are involved in the formation of blood brain

barrier?

550 - DA @I TR DEIGBS0S” ST LeTren
Options :



Schwann cells

28393617457, % LS50 SEFeD

Astrocytes

28303617458, v ST RER

Ependymal cells

18303617459, % © OB FeTen
Microglia

28393617460, * EHA>

Question Number : 46 Question Id : 2839364366 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
All protostomes show

(B NE S0 TP 1508 AAFT R (89858 ) 0w
Options :
Holoblastic, spiral, indeterminate cleavage

18393617461, % oI RB0BeS, 08, @AT O IAFI0 (DO 70w

Holoblastic, radial, determinate cleavage

Holoblastic, spiral, determinate cleavage

18393617463, ¢ I22028e, A8, ATV DAOFS0 (HAB T 0w

Holoblastic, radial, indeterminate cleavage
28393617464, % @Qﬁ@ﬁé, NI3Te M Q"0 NOFS0 L;J{:sﬂ,;l@?o&)

Question Number : 47 Question Id : 2839364367 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In earthworm nerve ring is present

TFSTSnS & SeaHo
Options :



around the oesophagus in the 3" and 4" segments
28393617465, % BITOTITE NP 38, 45 oSBT OS’ FOBRD.

around the pharynx in the 3™ and 4" segments
28303617466, v IR TP 335, 45 PodT S 0.

around the gizzard in the 8" segment
28393617467, % SOSBBBS0 tHEY 8 OGSO’ GO,

around the pharynx in the 5" and 6™ segments
18393617468, % LI L0 58, 6 poderersS’ Godb.

Question Number : 48 Question Id : 2839364368 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The larval form of gastropods is

m e 2yesS dosso
Options :

Veliger
28393617469, ¢ 8235
Bipinnaria

2
28393617470, % B 01 00%

Parenchymula

==
28393617471, % 20O S0©

Auriculana

28393617472, % ©0505BOAD

Question Number : 49 Question Id : 2839364369 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which among the following is not an amphibian character

&1 1808 >8S’ GHAHBo® ©E R0 A
Options :



First tetrapods
28393617473, % SVGINCES ek HEDED

Monocondylic skull
28393617474, R SOCSANS HIB

Three chambered heart
28393617475, % SVICR D Fryddao

Ureotelic animals
28393617476, % OO BOS 225hen

Question Number : 50 Question Id : 2839364370 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
One of the following 1s commonly called flying fox

& 1808 e3¢5 AABRE) 0D AA woerd
Options :
Macropus

[T
28393617477, % VLSO

Draco

28393617478, % (&8

Exocoetus

5, e
28393617479, % 2SVVOD

Pteropus

28393617480, ¢ EIODD

Question Number : 51 Question Id : 2839364371 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Reservoir host for Trypanosoma gambiense.

(E35e5 L rpoalad) es30hH e9add
Options :



Monkey

28393617481, ¥ S'ed

Rabbit
28393617482, % So0TeN

African antelope

18393617483, ¢ SIDES Joe3S’D

Female Culex mosquito
28393617484, % @ SUTE) B

Question Number : 52 Question Id : 2839364372 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The diploid stage in the life cycle of Plasmodium vivax is

FIABAD0 T78) EDes HF0S B 50D BE &5
Options :
Sporozoite

18393617485, % Bea0Es

Cryptozoite

28393617486, % \5&Fer00Ed

Metacryptozoite
28303617487, % e (SFFEo0D

Ocokinete

28393617488, ¢ 8RS

Question Number : 53 Question Id : 2839364373 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In human beings Lymphadentis is caused due to infection of

SrdHRAS OoFBoE3D A HoEe IO Sentheod
Options :
Common round worm

28393617489, ¥ O P20



Hooke worm

28393617490, % SO8 YBH

Filarial worm

18393617491, ¢ ROO0NS (5¢) Yot

Tape worm

28393617492, * D@ IS

Question Number : 54 Question Id : 2839364374 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Hashish, Charas and Ganja are

JFaD), V8, o R
Options :
Cannabinoids

28393617493, ¢ 5072 DT a0E)

Coca alkaloids

28393617494, & S5 @O eranS)

Barbiturates

28393617495, % 2"0)ENTEB)

Opioids
2 2
28393617496, % 2w ICSTONEY

Question Number : 55 Question Id : 2839364375 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Unit of land containing different ecosystems surrounded by natural boundaries is called

DA B8 Sgdmen EOR &od HFre HOTDOS e580H AS 27D [DSTET)

Bo& Dorr venardy
Options :
Biome

28393617497, # 25360080



Landscape

28393617498, ¥ TSSO (DHFE

Ecosphere

28393617499, % &85 Ao

Ecosystem

28393617500, * 23TDOEI S5IP

Question Number : 56 Question Id : 2839364376 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find out the incorrect pair/pairs
RO 23¢HeN 570

A. Cave dwelling Amphibian - Protopterus
0TS DSVOT SBONBB0 - (FEr DOD

B. Nocturnal amimal - Cockroach
QTS B0t - HC0E
L Cyclomorphosis - Daphnia

|10 ErdRBod - @) ale
D. Anadromous - Anguilla bengalensis

OT (TN - @OA T TorrS),)D
Options :
28393617501, % A, Band D

28393617502, ¥ A and C
28393617503, v A and D

28393617504, % only A

Question Number : 57 Question Id : 2839364377 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Read the following regarding Monarch butterfly

A. The Monarch butterfly is highly distasteful to its predator because of a
special chemical present in its body.

B. The butterfly acquires the chemical during its caterpillar stage by feeding
on a poisonous insect.

Soard), e Dend HO0D 1Bod T H03Oo0bk.

A. Db, DT Dend Biro D85S SraHE Hordo O
&OCGBE0 SO DO E V8 HDESOM oD

B. & JemFEdend 3025 S35 2.8 DAITOS 0T eS0T eNES%0
o 5T &2 SaraNS Do), oo d.

The correct option among the following is
& 18060 050 HOTSE

Options :
Both A and B are true

28393617505, ¥ A o003 B Bodsr waso

A 1s false B 1s true
28393617506. ¥ A @230 50 B Q2o

A 1s true B 1s false
18393617507. ¥ A w230 B Q230 5°¢0

Both A and B are false
28393617508, ¥ A DO B Bodd AB0 50

Question Number : 58 Question Id : 2839364378 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

List — 1
A. Mutualism I,
B. Commensalism 11

C. Amensalism I11.

D. Competition V.

1508 a3 23¢5:H80 a0
NIV |
A. oS ;T doH dTdsso L

B. H3r82eEe 50 II.

C. dr)O23e0 1.
D. &%¢3 e5¢8 50 IV.

V.
Options :

List - 11

Both the species lose

One species is harmed, the other is unaffected
One species is benefitted the other is neither
benefitted nor harmed

Both species are benefitted

One is benefitted and the other is harmed.

SB- 11
olola ME-INTSVENTSFv (oW
2.8 B SPFS06, BOBS TP eroes
|20 GO
2.8 2 ©2) o0, DO e735 DD,
SADSE
Boch #yen ©f) FotveEron
2,8 229 e HENA0D), HFEES Sade¢od

28393617509, ¥ A—IV,B-V, C-I,D -1

28393617510« A—=IV,B-IILC-II,D -1

13393617511, # A—-1LB-IV,C-V,D-1I

23393617512 # A=LB-ILC -1, D-1V
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The dental formula of an 18 year old man
18 0059€5 )07 AN e SrSIAS’ B0 D500

Options :
28393617513, % 2123/2123

28393617514, ¥ 2122#? 122

28393617515, % 2102/2102

28393617516, ¥ 2023/2023
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Which of the following statements about HCI of gastric juice is incorrect.

& 1800 73S 888 3505°D HCl HBodD H8 5 e0¥0.
Options :
HCI kills the microorganisms ingested along with food.

28303617517, % SIEOS &) &8 8o HCl t50yeh0d

HCl is secreted by peptic cells of gastric glands

18393617518 ¢ 200 H0GN® ' DYPF FeTre> o) HCL 00 2320,

HCI provides the acidic pH which is optimum for the action of pepsin

£8393617519, % SIS HATONERE @S50ED @D S35, HCI EendiZ oo

The proenzymes pepsinogen and prorennin on exposure to HCI are converted
to active enzymes.

58393617520, % EPDOBS B 1S B, (98,8 HCL 0s0E 06" Se550¢50 eosyeron

Question Number : 61 Question Id : 2839364381 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Inhalation of iron particles causes

2050 BENHOD B0 S 0T O
Options :

Pneumoconiosis
=
28393617521, ¢ STSTEARR

Pneumonia

28393617522, % CNFRIQCD

Emphysema
—=. 5
28393617523, % 2O



Black lung disease.

28393617524, % D) CFOBS 5O
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Which among the following statements is not correct about angina pectoris.

&:1808 73S’ so2T VSOV HBOD H6 ) woFo
Options :
It is caused by narrowing of blood vessels.

28393617525, % RO OETFED D5 T €965 §E50 SO DOZIDOTHD

It is a warning signal of deprivation of blood to the heart muscles
28393617526, % 2O (LOG 0BT 5 S50 SEHT° SN0GA BOHANZ R (DAFS DS

Necrosis of cardiac tissue occurs locally
18393617527, ¢ (DOT 8€32 @0 Y RSOIT DGeI0TICt0 2D ed0b.

It occurs in men and women at any age.

18393617528, % 2O (R NS’ SODNE HQ BHOGE ASEFTT HOLIOTHD
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Kidneys are located on either side of vertebral column between the

S|S0 BT S0EH athBayer
Options :

Last lumbar and third sacral vertebrae
28393617529, # b S‘éﬂ §%6&§D. 35 L@g §%é)§o :)Jés 65 GOETO0.

Last thoracic and third lumbar vertebrae.

28393617530, ¢ W0 sGs 3B50, 355 E€3 53050 DS & goerow.

Last thoracic and second lumbar vertebrae
18393617531, % 0 &d: EE0, 25 5¢3 EF0E0 DS S &0oLTow.



Last sacral and third caudal vertebrae

18393617532, % WO (B8 E3B80, 35 HTd) F30F0 s & oLrow.
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In nephron the maintenance of acid and ionic balance is due to

S980 1DX700S" 353 - T8 DS Ko )T DG S0

Options :
Ultrafiltration

28393617533, # P& OO

Selective reabsorption.

28393617534, % OET S Yt A0

Tubular secretion

£8303617535, ¢ P PS® (R0

Facultative reabsorption

18393617536, % D508 Dz Fae0
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Identify the mixed cranial nerves

&5 (800 e3S" I Ere o Hdodod
Options :
28393617537, ¢ ¥V, VILIX, X

28393617538, # 1, 11, VIII

28393617539 % 11, IV, XI, XII

28393617540, # L, 1L I, IV
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Match the following

1808 T3 3¢ DB
List — | List — 11
e - | e — 11
A. Sphenoid bone. I. Strongest of all the facial bones
R)S8ano. S0P DSNED @) E3S’ BT DSnEen
B. Zygomatic bones. II. Smallest bones of the face
2 Fore35 ddw¥en 300 23750 € Be) 98 D) D0
C. Lacrimal bones. I1I. Key stone bone of the cranium
oD e, Ere0 & SRR DSnde
D. Mandibles. IV. Triangular bone of the face
STeden. 1325023 5°8 30 W
V. Cheek bones
TODOZ SO AW,) Ledngen
Options :

28393617541, * A-LB-ILC-IV,D-V
28393617542, ¢ A—TILB-=V,C -1, D -1
23393617543, # A—1IL,B-1IV,C-I,D -1

18393617544, ¥ A—1IV,B-IIILC-I,D-V
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Which of these hormone play a major role in regulating circadian rhythms

& 808 IS S DB A0HS ©ohHO& (E HOTEH
Options :

Growth hormone
28393617545, % ODHAO TS

Epinephrine
28393617546, % DVD(DD

Melatonin
28393617547, ¥ DOE'RS



Thyroxine
28393617548, % BO"SIO
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Assertion (A): Diabetes mellitus is symptomized by excretion of glucose
through urine and formation of ketone bodies.
Reason(R): Anti-diuretic hormone is secreted by the posterior lobe of the
pituitary gland.
D50 (A): 05|53 @ SO° B8RS 23 S50 DB 865°S Tofew
DEIGB0 IO S05rBER DOOD T o sren
520 (R) 1 Dearsend HE 00D airoed Bohrdeds SH8HS Q (DDotH.

The correct option among the following is
&2 1800 DD ITOS HOTSE
Options :
A and R are true. R is the correct explanation of A
18393617549, % A 000050 R Both SO, A 8 R DOTS Dd8ea

A and R are true, but R is not the correct explanation of A
18393617550, ¢ A 0OAN R Bodd KOS, 5 A § R DO Daddea 57

A 1s true but R is false
28393617551, ¥ A QOTDIE R QOIS 5°¢0

Both A and R are false.
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The antiviral proteins produced by virus infected cells and are involved in

protecting the neighbouring cells from the viruses of infected cells are
NS &) FTE SeTrecd 88 otdERE IR & HoEe TodS B

Segre DGO T 885 0iroedS S |9F¢8soen
Options :
Complement proteins

28303617553, % 0F B8 |3



Interleukins
x B0L5erED

28393617554.
Cytokines
28393617555, % DEES)
Interferons
'HOGJE_T'::)D“(%J

28393617556, ¢
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In humans, implantation begins on which day after fertilization.

SPSHRES’ HOBESED 200 Sared & Fered DO (D DS
(B0

Options :
7" day
28393617557, ® 7 & B

4" day
28393617558, % 4 & B2

13% day
28393617559, % 13 & Te

6™ day
28393617560, ¥ 6 & Ba
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In humans the maternal blood comes into direct contact with foetal chorion.

So the placenta is described as
[f‘»_.‘_r " DO DT AW BIASTEN FEMT Srehy) G50 & HoVOTR)

D3 YETHEOLTON. WENSO0ES 2T°AWHD De0EFED?
Options :



Chorioallantoic

28393617561, % BPOG T O8N 2T A5y

Haemochorial

28393617562, ¢ ST IrEBANS BTCINY

Discoidal
28393617563, ¥ LSS BTSN

Deciduate

28393617564, % 22 BTN
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ZIFT is

ZIFT eadore
Options :

Embryo transfer or intrauterine transfer
28393617565, % DO 2O B o7y FSH BoSS OO

The ovum is extracted and fertilized outside and zygote is transferred

into the fallopian tube.

@0 ), DEBOD 20HLE @ FOS arirs HOOES TROD DB )G
28303617566, v DOOS0E D2rd) (R S DS rFo & (DB DG E0

Transfer of ovum into the fallopian tube

18393617567, % WO@R) FS'DONS &0 '8 260 Tahdo

Ovum collected from a donor is transferred to the fallopian tube of

recipient woman

ed OB DEGODS @OER) |1eres (& DSDOHS TEINSE 260
28393617568, ¥ TIONCO.
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Assertion (A): In cockroaches the sex of offspring depends on the fertilizing
sperm.
Reason(R): Cockroach males are heterogametic with XO chromosomes

D750 (A): SHOES ol AT B HOAESH ToAoT HIES00
e ODG GotVod.
5320 (R): s TOosen XO (FIrSH5nod §O0 ¢od DAsh SodBel
DessenT S0eron
The correct option among the following is

&: 1B0B DD ITOS HBTIE
Options :

A and R are true. R is the correct explanation of A
18393617569, ¢ A 200A50 R Bodd SO, A 8§ R SOTS DdSed

A and R are true, but R is not the correct explanation of A
18393617570, % A BTN R Boch S8, 5°A A § R SO DB 570

A 1s true but R is false
28393617571, % A QODIA R S8ZPAE 50

Both A and R are false.
18393617572, % A 00w R Bodr SOOI 5%y
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Phenylketonuria, sickle cell anemia and cystic fibrosis are caused respectively

due to

2 S S 0B FIO Sea 58 aredeh, DNE DS DR TGOMSD SBDT S

B'R3rS Sne edveen
Options :
Chromosome 7, Chromosome 11, Chromosome 12

28393617573, % E3rE N 7, FrED 11, FrE' 12

Chromosome 12, Chromosome 11, Chromosome 7

28393617574, ¢ BB 12, FFrED 11, & 7

Chromosome 11, Chromosome 18, Chromosome 9

28393617575, # F3rS 11, (F3rs 18, F3rs'S 9



Chromosome 18, Chromosome 11, Chromosome 9

18393617576, % (S rE e 18, (Fr&'D 11, 138D 9
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Labelled probes are used in DNA fingerprinting for

B.08.9 Doib (Doe3oh Bsm) ©E S BATITE O (SO oS
SraoOdriardo.
Options :
[solation

28393617577, % OlirE TAhcso

Blotting

28393617578, % &e30R

Fragmentation

28393617579, % POGESE

Hybridisation

28393617580, ¢ DOEBESED
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The connecting link between amphibians and reptiles

GHONITOE DODYTF) 5 DOTOHE Ve AE?
Options :
Eusthenopteron

) W
28393617581, % QUPPTHES

Seymouria

28393617582, ¢ exrdalr

Archeopteryx

28393617583, % &I0FAVWEE)



Cynognathus

= £
28393617584, % DI TSR
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The principle which states that the allelic frequencies in the population will remain

constant from generation to generation under certain conditions was proposed by
) 0SS0 5 S0 2.8 BT S B Drdsarsen 8 STrenT NSO

GOLFONA B2 ACDATR) (DBIO0DS %
Options :

Alfred Russel Wallace
28393617585, * BBIG GRS FBR

Hardy, Weinberg
28303617586, ¢ Q. B2

Sewall wright
=]
28393617587, % VO BE

Thomas Malthus
28393617588, % G0N PO ETR
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Commercial broiler strains used in India are

e300 |2roned dsten
Options :
Hyline

28393617589, % SO
28393617590, * BV-300

Poona pearls

28303617501, % SJTRO° S SEN



Hubbard

28393617592, ¢ &R
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Arrhenotoky means

@3S’ § oS
Options :
Female parthenogenesis

28393617593, # €3¢ @S 2380

Male parthenogenesis

28393617594, ¢ o0 @QE 22580

Homozygosity

28393617595, % e0030M230

Heterozygosity

28393617596, % k00230
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Statement — I;: Direct ELISA 1s used to detect antibodies.

Statement-II: Indirect ELISA is used to detect antigens.

@030 - L |He8s8 ELISA & [D353:55e50% HA0 @8 DAl
@040 -IL @058 ELISA & [Hedzecdseerdy M08 Dclhrinrdd

The correct option among the following is
& (B0B DD ITOS HOTDSA
Options :
Both statements I & II are correct
18393617597 % @030 [ 0B8AW IT BSOS

Both statements 1 & II are false



Statement [ 1s correct but statement 11 1s false

Statement I is false but statement II is correct.
18393617600 % @030 1 00N 57¢, @040 11 AT,
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A man stands on a lift, open from above, moving up with a constant speed of 4.9 ms!. If he

throws a ball upwards vertically with a speed of 9.8 ms! with respect to the lift, the time taken
by the ball to return to his hands is

PEIB 4.9 ms ! & OIS Ehendr &) DEDITA O S 2.8 AN doard eae) .
98 2.5 208 O Do 9.8 msT SAE QAT D8 DVOB , S TAS'E 86h

DEENE 22063 BER DDCHO
Options :
28393617601. ¢ 1 s

28393617602. # 2§
28393617603. ¥ 3 5

28393617604, # 1.5°8
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The dimensional formula for inductance is

5565 50 TBE), NBOH FrEder
Options :

25393617605, % M LT T2AT]

1127241
28393617606. * [M Bt ]

172T-2A2
28393617607. ¢ [M LT°A ]

28303617608, % M LI T2 A
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Which of the following is an example of very short range force?

BoB e3¢5 @& 550355 5D Hd) 200 AA?
Options :
Gravitational force

28393617609, % th&er ;8 200

Electromagnetic force

18393617610, % DEOFOADIY0 20

Strong nuclear force
28393617611, % PP Z20185% 200

Weak nuclear force

28393617612, v SEI® BolCE 300
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The height of the ceiling of a long hall is 7.2 m. The maximum horizontal distance that a

rubber ball thrown with a speed of 20 ms! can go without touching the ceiling of the hall is
(take g = 10 ms2)

2,5 G Fened ED) D¢ 7.2 m &od. 20 ms! SASE DS 2.5 $20385 208 SteneS ED)
& er8fvom ITNOT K50 § &es DaSroesd Ardo
(g=10 ms?2 r SNFod)

Options :

28393617613. ¢ 38.4 m

28393617614, ¥ 39.2 m

28393617615, ¥ 40 m

28393617616, ¥ 40.8 m

Question Number : 85 Question Id : 2839364405 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The bob P of a simple pendulum of length L released from 60° to the vertical hits the bob Q of

another pendulum of same length which is at rest on a smooth table top as shown in figure. If the
masses of P and Q are same and collision is elastic, then the height to which the bob Q rises after
collision is

(neglect the sizes of the bobs)

882 00278 60° Ee0 TBOr &d) L P&y oind®so F5o P Q SO0 @ Herssnd
RS B0 Koae Y0 PBS ) 0B FrE RS HBE oS oo Mo
Q D AFNLO. fere (H95:07Hen Hardan B0 DNPB0 DBTHEDONS , DTG0
eb&naTed Ao Q BOD ek

( fere) HOSFeTe oiodhod )




Options :

2|

28393617617. ¢

& |-

28393617618, #

28393617619, ¥ 8

Zero

28393617620, % (00R°))
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A small block of mass M is released from the top of a rough inclined plane shown in the figure.

If the coefficient of friction between the block and the inclined plane is 0.5, the speed acquired

by the block when it reaches the bottom of the inclined plane is

M (S350°2 50 2.8 D) R0 DS BN KBS Fenser0 DLFH0 OB SSDE08.
30280, ren e 63 uden 180 0.5 @ond , B0 Jrendeo (BoHE TOHOE ol S&

NIM [

lm

lm

x
.

Options :

-
28393617621, ¢ V& MS

-1
28393617622, % V2§ mMS

=1
28393617623, % V& MS

-1
28393617624, ® 2N & MS
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The maximum speed with which a car of mass 1000 kg can move on a circular track without

slipping on a horizontal road having coefficient of static friction 0.5 is 7 ms™1. What is the static
frictional force between the car tyres and the road when the speed of the car on the same track

is 5 ms1?

1000 kg © (335077 e5d) 2.8 =% 0.5 D snde Hreado &d) §ae Darosd 8 and 2.8
S9TsE Srdo Joad OFhom 568 (60 5& 7 msl @8 Srdo & 5% S& 5 ms!
€530 525 TGEY, T G ; DEE 0P 200 D06 ?

Options :

28393617625. % 4900 N

28393617626. ¢ 2500 N

28393617627. ® 250 N

Zero
28393617628, % (F0&T"))
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A boy of mass ‘m’ stands at one end of a long trolley of mass M moving with uniform speed V

on a smooth horizontal floor. If the boy runs forward with a speed ¥ ., what is the speed of the

.—-

centre of mass of the trolley-boy system?

50510 8Bz HSr0sS B V 85 SEE SO0S) M (855073 e 2.8 PSR S 1670 o 2.8

DG ‘m’ 1555077 (1) erendd deraddh o) . 2renddd ¥ IHE Snondd HEHAGS, 1L7O -

i

270 95058 (£5e350°F OIS0 S5G DOeh ?

Options :
(2ZM-m)V

28393617629, % 2(M—m)



(M+m)V
28393617630, % (M —m)
vV
28393617631, % 2

28393617632. ¢ V.
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A circular ring rolls up an inclined plane of angle of inclination 30°. If the speed of the centre

of mass of the ring at the bottom of the inclined plane is 9.8 ms1, then the maximum distance
the ring can go up along the inclined plane is

2.8 39T58 £0820 30° arenT0 &) 2.8 arend®0 2 00D 8 SLHE0H . Srend oo
B0 @0tHSQ $o¥e0 1555073 301850 S5& 9.8 ms @ond, srendero Jowd So¥no 28

ILEOT 56 &S0
Options :
28393617633, ® 9.8 m

28393617634, ¥ 13.72 m
28393617635, % 14.7 m

28393617636. ¢ 19.6 m
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A spring balance has a scale of length 10 ¢m and reads from 0 to 2 kg-wt. When a body suspended

from this balance is pulled and released, it makes oscillations with a period of 0.44 s. The weight
of the suspended body is

(take g =10 ms™)

10 cm &r¢sayiier (D00 (@0 penm 0 0 2 kg-wt BA0MHen 05, & (@08 (SerdddS af
509D erf SADS @O 0.44 s BoaTd8S 5008 BOrren DRNOA. |FereANS S 2rd0
(g=10ms? e 080 )



Options :
28393617637. # 0.49 N

28393617638, ¥ 0.98 N
28393617639. ¢ 9.8 N

28393617640, % 98 N
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th
Mass of a planet is T of the mass of the earth. If the escape velocity from the surface

1
of the planet is ? times that from the earth, the radius of that planet in terms of earth’s

o

radius R 1s

1
2,5 |B53a500 189555073 e (55073 10 o5 5068, |HeTadn ErdBeS® HOG HDerad

SHS0 2 SNBSS0 Dofd HerchHd B Bty @& |Herariardsan

1
2
Zrargardsn R e ¢
Options :

28393617641, % OR
s
5

28393617642, ¢

A
28393617643, % 2R

2
28393617644, ¥ R
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A rod made of material of Young’s modulus 2x10'" Nm™ undergoes an elastic strain of

(.04 %. The energy stored per unit volume in it is

0$0f %0 2x10" Nm™ e S80S TAHaAS 2.8 6 0.04 % DRarHs DEHR8 H8

0N, TS D508 SNOIFETFIE Jend &) $8
Options :

-3
28393617645, * 400 Jm
28393617646, % 800 Jm™

28393617647, % 1200 Jm™

28393617648, v 1600 Jm™
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An air bubble of radius 1 mm is formed inside water at a depth 10 m below the surface of

water. The pressure inside the bubble is

(Surface Tension of water = 7x10-2 Nm!; atmospheric pressure =10° Nm~ and g = 10 ms=)
De3 &HBSIN Hod 10 m Sened 1 mm arSsmnier e 20l DE)IGIA. andied He
DEHSAD

(De3 dereddeed = 7102 Nmrl, a3 Sen Dchedsw = 10° Nmr? svdasn g = 10 ms2)

Options :
5 -2
28393617649, ¥ 2.28 X 10° Nm

28393617650, % 2-0028 x.10° Nm
28393617651, % 2-14 x 10° Nm™

28393617652, v 2-0014 x 10° Nm*
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2 kg of ice at -20 °C is mixed with 5 kg of water at 20 °C in an insulating vessel having a

negligible heat capacity. The final mass of water in the container is

(The specific heat capacities of water and ice are 1 kcalkg °C and 0.5 kcalkg °C’

respectively, the latent heat of fusion of ice is 80 kcal kg™")

-20 °C &8F8ed 3G &5) 2 kg 189550°2 fie> 20000 20 °C I &) 5 kg (535073 He> D3
GRD0GE F(SS EODTH. | GRS 050 DDIBOVSASED. S’ d5S) De3
A0 | Hed50°7

(D3 TR0 1 kealkg ' °C ', ot D3P0 0.5 kealkg ' °C ' 0805w H0t%

185825568 Hhe¥FH0 80 keal kg™)
Options :

28393617653, % /1 K&
28393617654, ¢ 0 K&
28393617655, % 4+ kg

28393617656, % 2 K&
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3 moles of a gas requires 60 cal of heat energy for 5°C rise of temperature at constant

volume. Then heat energy required for 5 moles of the same gas under constant pressure for

10°C rise of temperature is

(universal gas constant = 2 calmol™ °C™)

8 SN0 $@ 3 Trd e TrOing gy el 5°C DoherB S0
&r¥8 60 cal @ond, 5 IrSe HOSFR0 Ko [T o0 S5F e DEDBS0 5 10°C
O0TROE 55 il

(rd 538 oS Yorodo = 2 calmol™ °C™)
Options :
28393617657, % 200 cal

28393617658, % 400 cal



28393617659, % 100 cal

28393617660, ¥ 300 cal
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Two metal rods A and B have same difference of 60 cm length at all temperatures.

If the coefficients of linear expansions of the metals of A and B respectively are
18x107° °C™ and 27x107° °C™", then the initial lengths of the rods A and B
respectively are

20 BEFHese) 58 Bodkh S EGen A SHOGW B £rtye Sieredssn 60 cm.
A 5005 B $Ge> 50 Bsar s Heasen S50 18x107° °C s csn

27x107° °C™" eoom e, A 0050 B e &8 Srétsyen S5Edm

Options :
28393617661. " 120 cm ﬂnd 3{] cm

28393617662, ¥ 180 cm and 120 ¢cm
28393617663. b4 160 cm alld 1{]0 cm

28393617664, % 240 cm and 180 cm
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If p 1isthe density of the gas, m is the mass of one gas molecule, K is Boltzmann constant

and the absolute temperature of the gas is T, then the pressure (P) of the gas is

p A0 06, M oy Ty 2.8 @0y (D507, K ', S Qom0 s00050

T 050y BwE), HES ¥ e 000 Tk DhSSw (P)

Options :

p— pKT
28393617665. ¢ m



pkn

28393617666. % i
~ pmT
28393617667, % K

28393617668, * P=pKmT
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Match the following
List -1 List - II
A) Equation of continuity I) less than critical speed
B) Bernoulli’s theorem IT) formation of whirlpool
C) Turbulent flow III) law of conservation of mass
D) Stream line flow IV) law of conservation of energy

BoA AR 23683500

eI 211
A) roehehs HDadESeasmn I) S0 5 oo 5035
B) 35,0 05w IT) So&H0men IS
C) DOZOD DT sT00 III) |85a5507 ebged & QIO
D) oo Bar [DeTeTsan IV) 38 Qedred s DAD 00
Options :

28393617669, % A-IV, B-11, C-1, D-III
28393617670, ¥ A-l, B-IV, C-11, D-III
28393617671, % A-IIL, B-II, C-I, D-IV
12393617672, v A-IIL, B-IV, C-II, D-I
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A source producing sound of frequency 170 Hz is approaching a stationary observer
with a velocity of 17 msl. The apparent change in the wavelength of sound heard by the
observer is

(Speed of the sound in air = 340 ms7)

170 Hz 2rdedso EOAS G500 30N TAhS), af 2d8o IoHnads Ko
H6P0HABY) 17 ms1 SK0E (N, @d AT S5 $3083850Y 97 S3Ed)

(rOS 55D 5 = 340 ms)
Options :
28393617673, ¢ V-1 m

28393617674, % 0.2 m
28393617675, % 0.4 m

28393617676, % 0.5 m
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A tuning fork gives 5 beats per second with 40 cm length of a stretched string. If the length

of the wire is shortened by 1 cm, the number of beats per second is still the same. The
frequency of the tuning fork is

2.8 $3BS50%0 40 cm 8PS Ko 2.8 FHAOHHAD S8E DE0RE 5 DD JoST D Gred B
TDSLO. BEFEHD 1 cm SHODSYE B D)0 S D) S0 SrEIBE wond

39e350¢50 O3NEY DY §adn
Options :
28393617677, % 385 Hz

28393617678, * 320 Hz
28393617679, ¢ 395 Hz

28393617680, * 400 Hz
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Correct Marks : 1 Wrong Marks : 0
Two equiconvex lenses of each focal length 24 cm made of glass of refractive index 1.5 are

placed in contact coaxially and the space between them is filled with a liquid. If the focal length
of the combination is 18 cm, the refractive index of the liquid is

S 853 roesso 1.5 e rrerd® doird) Sohess aE)HS 24 cm Tgmosso Ko Dok
NSnBEogrses Stsre SPgorr asTrd8 88 oy 08 ad B (BT &8 (K508° Joart.

géyere Sodiriio aing) wrgrgodto 18 cm eond [S50 et S 858 rpesso
Options :

| W

28393617681, #

L | h

28393617682, #

w |

28393617683. ¢

5
28393617684, ¥ 4
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In Young’s double slit experiment, if the screen is moved 40 cm away from the plane of the

slits, the fringe width increases by 0.16 mm. If the wavelength of the light illuminating the slits
1s 600 nm, the distance between the slits is

ahol a0t HOS (SEmTOS, 865 HDEw dwo Hod 40 cm Srorr 693 H¢ Sty 0.16 mm

20AS6. HDEuD 56580 TH sT08 Storipgso 600 nm eond, LOSw Dy o
Options :
28393617685, # 0.5 mm

28393617686. ¥ 1 mm
28393617687. ¢ 1.5 mm

28393617688, ¥ 2 mm



Question Number : 103 Question Id : 2839364423 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The electric field due to a short electric dipole at a distance of 10 cm on the equitorial plane from

the mid point of the dipole is E. The electric field due to this dipole at a distance of 20 cm on the
axis from the mid point of the dipole is

a8 @“@ DS Byido g gy von oo R iy dothsh Hod 10 cm &=8oé&t Ko

&8 Doth $¢ D8 gwo E. & &hdo wfod ahde Hi Dothiy wod 20 cm

Er80d® Ko 2.8 Dothd 6 dyé FWo
Options :
28393617689. ¥ E

E
28393617690, % 2

E
28393617691, % 3

E
28393617692, ¥ 4
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The work done in increasing the potential difference across the plates of a parallel plate capacitor

from V to 2V is W. The work done in increasing the potential difference across the plates from

2V to 3V i1s
2.8 Dadrodd Hoie el Hofe Hds YD Pdoh V Hod 2V H oiHios

JeHHeDS 50 W. Sese DG a‘ﬁﬂﬁﬁg_pjaﬁ B0 2V H008 3V £ DoHnd Ichdeds 59
Options :
IW

28393617693, % 5

SW
28393617694. ¢ 3

28393617695. ¥ W



W
28393617696, ¥ 3
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In a potentiometer experiment, when a cell is shunted with a resistance of 4 €, the balancing

length is 2 m. If the cell is shunted with a resistance of 12 Q, the balancing length is 3 m. The

internal resistance of the cell is
2.8 SPBYErED (HEM0s, &8 oerd) 4 Q Hoff AF08® SorrRoddp Sodes
PEH 2m . oer 12 Q S0 TGS SogrRodtyn SoHHes e 3 m. o T

wosd B Go.
Options :
28393617697, ¢ 4 L2

28393617698, * 12 Q

28393617699. * 6 £

28393617700, * 3 Q
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In the given circuit, the reading of the voltmeter (V) is

(Resistance of the voltmeter 13 900 Q)
85wad SooHos Sﬁsezég anexty (V) G, B&ord

(SFey Dot DB%ego 900 Q)

l]D\-I 10 2

Options :



28393617701. # 110V
28393617702. ¢ 99 V
28393617703. ¥ 121 V

28393617704, # 90 V
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An electron and an alpha particle enter a uniform magnetic field normally. If the force on the

electron is twice the force of the alpha particle, then the ratio of the speeds of the alpha particle

and the electron is

28 Qe DOAM af eonEno 8 KOS echHIr)os FBHoS AE womorr (558030, JUFH D

200 BoMEn0R ST aord8 Do) wond wor) Smo HBc Julgre Sthe BB
Options :
28393617705. # 1:1

28393617706. # 1:2
28393617707. # 1:3
28393617708, ¢ 1:4
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2
An equilateral triangular loop of side 100 ecm carrying a current of TEA 1s placed in a uniform

magnetic field of 3 T such that the plane of the loop is in the direction of the magnetic field. The

torque acting on the loop is

2
EA DS (HarER KOA &5y 100 cm gheo He a8 Jherdv @8 mresd erhid 3T 8bs

©chIesFEos® ard @) oo wdhirod E@ 8¥6° ¢ol DForr soTrd. erhR ST &),
Options :
28393617709. ¥ 2 Nm



28393617710. ¢ 1.5 Nm
28393617711, # 1 Nm

28393617712, ¥ 0.5 Nm

Question Number : 109 Question Id : 2839364429 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

At a place, the horizontal component of earth’s magnetic field is \E times the vertical
component of earth’s magnetic field. The angle of dip at this place is

2.8 (080 5 girechimos FEo @y 8 J5r0sd wodo grechamod FEo Gy &8 wow

w058 V3 Ben & (H8d0 5§ wdrs Swo
Options :
28393617713. ¢ 30°

28393617714, % 45°
28393617715, % 60°

28393617716, ¥ 90°
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A coil of area 100 cm? and 100 turns is placed in a magnetic field of 0.2 T such that the plane of

the coil is perpendicular to the direction of the magnetic field. If the magnetic field is reduced to

zero 1n a time 0.2 s, the emf induced in the coil is

100 cn?? Bzeex0 nbam 100 Hep fo a8 SHeD 0.2 T echodg@od® 8y dvo echimos

208 womorr &oGAGOT o, wdhamod Famd) 0.2 s reod® Hrio edy djore eﬁi;@, &

HgS® (20dEay emf

Options :
28393617717. # 0.5V

28393617718. ¢ 1 V



28393617719. ®# 2V

28393617720. ¥ 0.2V
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A pair of adjacent coils has a mutual inductance of 2 H. If the current in one coil changes from

0 to 25 A in a time 1s, the change of flux linkage with the other coil is

D8y DHELDS €55 2.8 23¢h 3l 0 0S3Sg S50 2 H. 2.8 20T D0 0 0od 25 A H8%

15 52065 SrBSL0NS, BOhS e TS DT 230KS0T 5T SEd)
Options :
28393617721, % 100 Wb

28393617722, % 12.5 Wb

28393617723, ¥ 23 Wb

28393617724, ¢ S0 Wb
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In an AC, L-R circuit, the inductive reactance is equal to the resistance R in the circuit. An

emf E=E, cos ot is applied in the circuit, then the power consumed in the circuit is

2,5 AC, L-R 5005065 2556 ¢ 19B8E0 $005065°D DTG0 R £ Hed5e550.

esssechoes emf E=E, cos 0t & e9:0:500028 285 DATrAos0T s arsddso
Options :
E3
28393617725, % RVZ
Eg
28393617726. ¢ 4R
Ej

28393617727. ¥ 2R



Ej

28393617728, ¥ 8R
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Uranium-235 1s used as fuel in a nuclear reactor that takes 30 days to use up 2 kg of fuel.

If each fission gives 185 MeV of usable energy, then the power output of the reactor is

2 kg © aSnBACH0-235 R0Ga)), GrHdirAod 30 Fxrerd e85 DB 185 MeV

GHTBPHESDNS ¥8 AT ) af @0 85D &) o
Options :
28393617729, % .85 MW

28393617730, ¢ 38.5 MW

28393617731, % 285 MW

28393617732, # 3850 MW
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Electromagnetic waves are produced by

DA 05 SBOMTeN DE3 S0 DB JchEron
Options :
Charges at rest only

28303617733, % QIO DB SV STFTO SO SrSH

Charges in uniform motion only
58303617734, % DFOB B0 Ko esHTe) Hed A

By uniformly moving neutrons only
28393617735, % SS08 SOI0S” B DFEFDHO SO S

Accelerated (or) decelerated charges only
18393617736, ¢ SO0 TOT S 206D & 660 TOT SJT°© JO ST (D
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3 % ; : 3 x
An electron is in an orbit of hydrogen atom with angular momentum = The minimum
2n

wavelength of the emitted radiations is
(h-Planck’s constant, R-Rydberg constant)

TSRS DEITENS .8 825 &) dOIFD FIak Lc‘f}:ng?f)fﬁoi—h . GEHOh; DEScre

£ Soizddso
(h- 0§ Yorofo, R-66 2f Dor0f0)
Options :

9

28393617737. ¢ 8R

36

28393617738. # SR
28393617739, ¥ 3R

28393617740, ¥ 3R
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The figure shows the variation of photocurrent (I) with anode potential (V) for a photo
sensitive surfaces for three different radiations. If I,, Iy and L. are the intensities and

V,, Vp, and v, are the frequencies of lights for the curves a, b and c respectively, then

S 5000 30 30070 T K0 DESGE0ED b330 TODID I S DEVES [DaTrT a0
(I) 558050 SSB FBRANS (V) 8 S (P DS’ S5rHnaadSd. a, b Svdasn ¢
SESNOE H0DO0B0D ST La, Tn 0OG50 e €0 508 3153650 sDOTN V,, Vpp 0030 V.
VR OTL I VIR BT INWID VI TV

¥

Options :
v, =v,and I, # I

28393617741, ¢ Va = Vi 0OC Iy # I

v. =v_and I, = I;

28393617742, % Va = VeonO0ahw I, =1

v, =v,and I, =1}

28393617743, % Va = Vy o000 I; = Iy

v, =v_andl, = I,

28393617744, %® Vo = Vo0 I, = I,
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A freshly prepared radioactive source of half-life 2 hours emits radiation of intensity which is
64 times the permissible safe level. The minimum time after which it would be possible to

work safely with this source is

8o Sotre @ 2£eh oo EOAS e $Alrdd ToHaES 2.8 BATr 08 aS80
29:0.0B0NS BE 2 Fron $0T0 64 TEY ©0AE &1:5¢ e DESeTR, DeSe) Do, @ 23550

& DEE S0 DATCHETVE IO GoEd 1 Ea) DHaHo
Options :
6 hours
28393617745, ¥ 6 ffocren

12 hours
28393617746, ¢ 12 fiotren

24 hours
28393617747, % 24 fiodren

128 hours
28393617748, ¥ 128 fiocren
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Assertion (A) : The conductivity of a semiconductor increases with the rise in temperature.

Reason (R) : At absolute zero temperature, the free electrons are not available in a pure

semiconductor.

D50 (A) LSS DEHAOSE 2.8 eodariTEo arrEe 50 DEHS0A.
5820 (R) 1 HE0ErSE S§Ffies 5, HODS @PrrEos Do) 0| Fenen 08550 5.

The correct option among the following is
& 1800 DOIFTOS HOTDIO
Options :
(A) and (R) are true. (R) is correct explanation of (A)
18393617749, % (A) 0O050 (R) 2:33). (A) B8y SO DS (R)

(A) and (R) are true, but (R) is not the correct explanation of (A)
18393617750« (A) «DOAW (R) 2.5, %A (A) Gwgy DD DG (R) 5°¢



(A) is true but (R) is false
28393617751, # (A) 290 5°0 (R) Sc3)

(A) is false but (R) is true.
28393617752 % (A) ) R (R) .83
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Match the following logic circuits given in column I with the output equations in column II.

(Aand B are inverted versions of A and B respectively)
2r8e [ S $8). o oo, erder I SR e HNEST e 23S HSW

(A 30050 B €0 ST A HBa50 B @ eSbsrmen)

Column I Column IT
e [ e I

[ . R—

& B—}_D'_‘f PRY
A e o

B. B:DO—D‘—Y Q. Y=A.B
A |

B o j—(:Do—v R. Y=A.B
A

D. B:D—[}v S. Y=A+B

Options :
28393617753, A= R, B—= S5, C—-P, D->Q

A+B

28393617754, # A=S5, B=R, C=>P, D=Q
28393617755, * A= P, B=Q, C—>R D-S§

28393617756. * A—=5, B=P, C—=Q, D—-R
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A transmitting antenna at the top of a tower has a height 32 m and the height of the

recelving antenna is 50 m. The maximum distance between them for satisfactory

communication in line of sight (LOS) mode is

(Radius of the earth = 6.4 x 10 m)

2,8 FDBE0 2 &S] 1D 0T ) 32 m sHOGW Ml esoBoor) e 50 m.
S8 HO (LOS) & & Bodoe3 &0dds H0oeyNEEDS (HDrE0 FH0 &odserdd K85
Srdo (@Erasardo =6.4 x 10°m )

Options :

23393617757, * 8 X 102 X /10 m

28393617758, * 12 X 102 X V10 m

13393617750, % 64 X 102 X 4/10 m

58393617760, ¢ 144 X 10% X /10 m
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Correct Marks : 1 Wrong Marks : 0



The ratio of radii of second orbits of Li*" and Be'' is

Li*" S8ain Be' e Bochs 45 asargre a6
Options :
28393617761, ¢ 4+ 3

28393617762, % 213
28393617763, % 3 1 2

28393617764, % 3 14

Question Number : 122 Question Id : 2839364442 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

h
In Bohr’s hydrogen atom the angular momentum of electron is —. The energy of that
r

electron (in eV) is

2h

56 PEES HEIFEWIHS’ QO TS FIoh (955 Biio — eond (TS 48 (eV o' )
7z

Options :

28393617765, % =34

28393617766, ¢ ~0.85

28393617767, % -10.2

28393617768. # -0.64

Question Number : 123 Question Id : 2839364443 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the elements S, O, Cl and F in the correct order of electron gain enthalpies

(8,H)

S, 0, Cl 56050 F & Qo|FS M7 205°9) (A H) © 8T (5008 @053 3550

Options :
28393617769, ® C1>0>8>F



28393617770, * E>C1>S8>0
28393617771, ¢ C1>F>8>0

28393617772, # C1>8>F>0

Question Number : 124 Question Id : 2839364444 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The hybridisation of carbon atoms from left to right in the given compound are

respectively H,C=C=CH-C=N
1808 H02PI0’ DB DHOD FoAE 5°5)S HESTEWHO DoEBEBeTEN SO
H,C=C=CH-C=N

Options :
28393617773, % SP > SP, SpP , 5P

28393617774. ¥ SP » SP , Sp , Sp
28393617775, % SP» 8P, Sp, 5p°

28393617776, ¢ SP » 8P, SP°, SP

Question Number : 125 Question Id : 2839364445 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
[n how many of the following intramolecular hydrogen bonds are present?

o — Nitrophenol, m — Nitrophenol, p — Nitrophenol, Salicylic acid, Salicylaldehyde,

p — Aminophenol, o-cresol

1808 T3S’ I063 CHOH e S0 T B eS VOTENOLTON

0 - B S, m — JE S, p — FE S, FOVOE o, IODerd e,

P — QS DTS, 0 - S
Options :
28393617777, % 4



28393617778, ¢ 2
28393617779, % 2

28393617780, % O

Question Number : 126 Question Id : 2839364446 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
At T(K), in a 10 L vessel equal masses of O,, CH, and SO, are present. If P is the

total pressure of the mixture in bar, the partial pressure of SO, (in bar) is

T(K) 58, 10 L r(e8eS* 0a50m ($350°en fe> 0,, CH, 0050 SO, e ) .

MF00 Do D0 P (bar) @onds’ SO, 88 1esd0o (bar o)
Options :

P
28393617781, ¢ 1

28393617782, % 7

28393617783, % 1

op
28393617784, % 7

Question Number : 127 Question Id : 2839364447 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In which of the following the under lined atom is in lowest oxidation state?

1808 365 8065 fich LSEDODS & DBSTENDY R e38 1880 VRS B0en0H?
Options :

28393617785, ¢ NH;

28393617786, % H,S

28393617787, % NaH,PO,



28393617788, % NH,OH

Question Number : 128 Question Id : 2839364448 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the reaction NH, HS(s)—=NH,(g)+H,S(g)

At T(K) the equilibrium pressure of the reaction mixture is 1.12 atm. The K, for the

reaction at the same temperature (in atm?) is

1B0& 585 HOHEdoTHSN
NHsHS(a2) == NH3(s3°)+H:S(s3°)

T(K) 56 dedoee S does 300 D¢850 1.12 atm @005 e & f|iied 56

56550 Kp Dendd (atm? &)
Options :
28393617789, % 1.2544

28393617790, ¢ 0.3136
28393617791, % 3-136

28393617792, % 6.272

Question Number : 129 Question Id : 2839364449 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The solubility of calcium fluoride in saturated solution, if its solubility product is

3.2x 10 s

A0 FBE BwE), (rSedcheEr ©0 3.2 x 107! @00 H0&8y (7608 T

), (TrSedased
Options :

4
18393617793, ¥ 4.1 x 107 M
28393617794, % 4.0x 10 M

28393617795, % 1.3 x 10° M

18393617796, ¢ 2.0 x 10* M



Question Number : 130 Question Id : 2839364450 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Zeolite 1s a silicate of two elements X and Y. What are X and Y?

2308 93O XY @ 8oth dreste ad3a. X, Yeu Qa7
Options :

28393617797, % Na, Ca
28393617798, % Mg, Al
28393617799, v Na, Al

28393617800, ¥ Mg, Zn

Question Number : 131 Question Id : 2839364451 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : LiCl and BeCl; are soluble in ethanol

Reason (R) : Lithium and beryllium are harder than their respective group elements

Q3¢50 (A) : LiCl 08050 BeCly e aadS'S &Sodk E&deron
5560 (R) : ©&SH0, BEOGHoED SAIT IFFHOS 'R ABE Hrese ) 8IS,

The correct option among the following is
& 208 DA IFOS HDOTIO
Options :
(A) and (R) are true. (R) is correct explanation of (A)
18393617801, % (A) DBAW (R) HBIS. (A) 50 (R) OB DG

(A) and (R) are true, but (R) is not the correct explanation of (A)
12393617807 ¢ (A) 0BG (R) DBIS, 570 (A) 50 (R) 0B Dadded 5°¢

(A) is true but (R) is false

(A) is false but (R) is true
28393617804, % (A) ROTLIE 520 5°A(R) HOQDIE

Question Number : 132 Question Id : 2839364452 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time :
Correct Marks : 1 Wrong Marks : 0

Identify the incorrect statement from the following

1808 365" HB5° a5 5 MHO0THED
Options :

Mg — Al alloys are used in aircraft construction
18393617805, % Mg — Al F ST DSrS JoETro S Ttherd

Be (OH): is amphoteric in nature
18393617806, ¥ B€ (OH)2 80 &5 52750 sotnod

Beryllium halides are ionic in nature
18393617807, ¢ SO0 FFB& en eASTRE H5erarv) SO Gotron

BeCO; is unstable
28393617808, % BeCO3 @REHSO

Question Number : 133 Question Id : 2839364453 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Observe the dimeric structure of aluminium chloride and identify the correct order of

bond angles «, B and y

P50 S‘Q& & seoe08 DU erd)) H0ID0D), 2088 ren o, B, HOABW y ©
DO (B0 HO0THHAD

Cl
NS
Al B Al Yya
Cl / \Cl Cl

28393617800, % &> P>y

Cl Cl

Options :

28393617810, ¢ &= V> P
28393617811, % Y= @ >

28393617812, ¥ P>Y>a

Question Number : 134 Question Id : 2839364454 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the correct statements from the following
BB 73S DB Fswreed HAOTDSD

A.  SiF! exists but not SiClZ
SiF;” ©8N0d 3R SiCl;” 8o
B.  [Ar]3d4s*4p? is the electronic configuration of an element which is used as a

semiconductor
[Ar]3d" 4s% 4p? doFS D50 ey Surer§od edairserey ardherdd

C.  Both CCl, and SiCl, undergo hydrolysis
CCl, 5060w SiCl, e» Bodr 2e DFNneo Toldheron

D. In+4 oxidation state lead acts as a reducing agent
+4 €38 18850 B’ BE § OHEESBT I TeROA

E Pbl, does not exist
Pbls &80
Options :
28393617813, ¢ A, B & E only

28393617814, * As C & D only

28393617815, % B, C & E only

28393617816, % B & D only

Question Number : 135 Question Id : 2839364455 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is not an aromatic compound / ion?

1808 835" D8 DTF8¢3E D50 28N0 / 0SS 527
Options :

Cyclopentadienyl anion

28393617817, ¥ VEFDOrBRTS SSATS

Cycloheptatrienyl cation

28393617818. ¥ Eg&ij‘:@nL@aﬁﬁ SRS



Anthracene
b
28393617819, ¥ SRV

Cyclobutadiene
28393617820, ¢ D5 LVETFTONS

Question Number : 136 Question Id : 2839364456 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The major product Z in the given reaction sequence is

QDS BT5E006T DTS 531920 Z 9080

lc KOH/A H0

CHLCH(X)CH, — 2@ >A e

3 (X) 3 (i1)NalNH?> 1%HgSOy4| H'
333K

Options :

28393617821, * CH;C=CH

18393617822, % CH;CH,CH,OH

28393617823. ¢ (CH-l ): co

18393617824, ¢ CH;CH,CHO

Question Number : 137 Question Id : 2839364457 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The number of sp*-sp” o bonds, sp*-s & bonds and p—p 7 bonds present in benzene
molecule are respectively

Bo2&S @m"ﬁ*@a SP:'SP: G 2007, sz_s O 20070 00 p—p T2ROTOQ
Sowen S

Options :

28393617825, * 6,12, 3

28393617826, % 0, 10,2
28393617827, % 12,6, 3

28393617828, ¥ 0,6, 3



Question Number : 138 Question Id : 2839364458 Question Type : MCQ Option Shuffling : Yes Display Question
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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Consider the reactions I & 11
2&gen I & I e H6fedododd

: Conc.HoS50y4 HBr
L CHO——r204 5 A >B

Anh.AlCI
L. BACH, —SUED g o

The correct statements about Z are
Z 50 020500 SO dTs5en

(A) It 1s anisole
20 INFS

(B) Hyper conjugation is possible in it
A0 93 H00INHE0 DO

(C) The substituent in it i1s a meta directing group
A oHOBO HBT HE0 DeT S DVFE Do

(D) On oxidation with KMnO,/OH " followed by hydrolysis gives a product in which
the substituent is meta directing group
KMnO,/OH" & 838860 Ta e@sor ¢ 2o D3000 238285180 288

&¢5105) 065" DB HEO Fer 3 AVFE Do
Options :
28393617829, % A & B only

28393617830, * B & C only
28393617831, v B & D only

28393617832, % A & D only

Question Number : 139 Question Id : 2839364459 Question Type : MCQ Option Shuffling : Yes Display Question
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Atoms of element X form hep lattice and those of element Y occupy two third of
tetrahedral voids. The formula of the compound formed by the elements X and Y is

X dured HSSrenagen hep 2resd) D8 )aron. Y dured HSdrensyen 2/3 artio
BEF TSSO S0Ered e3(EM0otLF0ETrow. X HOC Y & 838 Sabi$Ss0 BBwdy

e
Options :
28393617833, % X3Ys5

28393617834, ¥ X3Y4
28393617835, % X4Y3

28393617836, % XsY3

Question Number : 140 Question Id : 2839364460 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The boiling point of aqueous glucose solution 1s 101.3 °C. Its freezing point is
(Given that Ky of water = 1.86 °C/m and K of water = 0.52 °C/m)

1825 230) (369690 TBwE} 270132556 30 101.3 °C @901 &8 (E79€90 TB0EY, D255

90 ( D& By Kr = 1.86 °C/m 800 Ky = 0.52 °C/m)
Options :
28393617837 % 4.65 °C

28393617838, « -4.65 °C
{]
28393617839, # 2.65 °C

28393617840, ¥ =2.65 °C

Question Number : 141 Question Id : 2839364461 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The products formed at cathode and anode when aqueous copper sulphate solution is

electrolyzed using platinum electrodes are
5206 DB 2O (THETR), 3850 DOFE 0 SHTEAOD DS VBN

202D SEE DO BOSE © S BT Ered JaT) 0 SEOMT
Options :



28393617841, ¢ Cu, Oz
28393617842, % H2, O2
28393617843, % Cu, Ha

28393617844, # H2, S0z

Question Number : 142 Question Id : 2839364462 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The half life of a first order reaction is 30 minutes. What is the time required to

complete 90% of the same reaction (in minutes)? (log2 = 0.30)

2.8 DG 15308 i85 g e0Traineg 30 Aaarew e@ond & tids 90% o0 a8

%) 25050 (Qarers) dos? (log2 = 0.30)
Options :
28393617845, % 30

28393617846, + 100
28393617847, % 60

28393617848, % 90

Question Number : 143 Question Id : 2839364463 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the correct statements from the following

A. Lyophilic sols are irreversible sols

B. As:S; sol is not formed by mixing dispersion medium directly to As2Ss
C. Aqueous solution of NaCl exhibits Tyndall effect

D. Correct order of protective power of lyophilic sols is
Gelatin > Gum Arabic > Potato starch

8o 57¢3 o B Frgwserd H8othadw

A. ©TrDOE SN |82 DB0H S en

B. As2S3 50 S DB D05PHE00 DS As2S3 O G0
C. NaCl ze |5°5e20 e30aS HES0D 1080t

D. ©FTFDOE TS & H0TS HOEE 8 Aeos (X0
2038 > K @8NS > worre oD TB)

Options :

28393617849, % A & B only

28393617850, * B & C only
28393617851, v B & D only

28393617852, % A & D only

Question Number : 144 Question Id : 2839364464 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following are not the correct statements about the extraction of
aluminium?

I. The electrolyte is purified Al:O; containing NasAlFg

[1. Cathode is graphite

III. Aluminium is formed at cathode

IV. Steel vessel with lining of carbon is anode

@OPEDAON0 DA Be50 Ho20HOD 1808 ¢3S & T 55eN DBSD 5°69?
I. Na;AlFs & &&5) O TS ALO; D&osd 335580

1 e o036 2886

[1]. @riA0H0 SEE S5 81808

IV. 5838 S3oeh &) e (e e SH
Options :
28393617853, % 1 & Il only

28393617854, % 1& IV only
28393617855, % 11 & 11T only

28393617856, ¢ 11 & TV only

Question Number : 145 Question Id : 2839364465 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The products formed during disproportionation of orthophosphorous acid are

e 0GR @300 @SSO H S DO BT doed Jor) en
Options :

Phosphine and Orthophosphoric acid

28393617857. ¢ RS O eFIr)0F o

Phosphine and Hypophosphoric acid

Jea03e 1755, % RIS SOAR TR )08 @0

Phosphorous acid and Orthophosphoric acid

28393617850, % OISR SN0 SO T )08 essho



Phosphine and Hypophosphorous acid

L) ity i a
28303617860, % I DOAID FreFard )8R ea00

Question Number : 146 Question Id : 2839364466 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Number of moles of nitrogen gas liberated when ammonia is treated with excess of

chlorine is

BT 9O FOS & 585 SoBODIYH InST IS T oing IS ©

QO
Options :
28393617861, % |

28393617862, ¥ 2
28393617863, ¢ 0

28393617864, % 3

Question Number : 147 Question Id : 2839364467 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Roasting of iron pyrites gives a gas, which on catalytic oxidation forms X. This X when

dissolved in Y forms a compound Z, with S-O-S bonds. Identify the compounds X and Y

D35S B3R & B850 F0 HOTR ©DOT T A50YD & BI5E &8 5800 TodR X
©DotH. X D Y &’ 5800055350 S-0-S 2057en fied Z 595850 ©D0thed.
DaForen X, Y @& ihoothaw

Options :

28393617865 * 902, H2803

28393617866, ¥ SO3, H2804

28393617867, ¥ SO3, H2820s

28393617868, # SO2, HaS04



Question Number : 148 Question Id : 2839364468 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Number of lone pairs of electrons present in Xenon atom of XeF2, XeF4 and

XeFs respectively are

XeF2, XeFs, XeFs ©&° Xe 2 e 2,080 260 JO|FQ Dowg SO
Options :

28393617869, # 1,2, 0
28393617870, ¥ 352, 0
28393617871, % 35 1, 1

28393617872, ¢ 35 24 1

Question Number : 149 Question Id : 2839364469 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The spin only magnetic moment of Co** in aqueous solution is equal to which of the

following ions in aqueous solution?

209065 Co?™ eodird T, (25506 308 e90Har, 065 127050 1808 ¢3

230[IS065R &) OITFSE DSFSOMT &oeNOA?
Options :

28393617873, % Fe™

28393617874, ¢ €1
< 3

28393617875, % CoO

'\-’i"_
28393617876, % ke

Question Number : 150 Question Id : 2839364470 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the ligands OH , CO, enand I in the decreasing order of their field strength

OH™, CO, en 5805 1" Brod e o°¢3 3 (b 22een 47 15005 @9:080 e
Options :



28393617877, # €n > CO > I" > OH

28393617878, # OH™ > 1" > en> CO

28393617879, ¥ I > OH™ > en> CO

18393617880, ¢ CO > en > OH™ > 1

Question Number : 151 Question Id : 2839364471 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

List — I (Polymer) List-11 (Monomer)
A. Teflon [. 1,3- Butadiene & styrene
B. Bakelite II. Caprolactam
C. Buna-S III. Phenol & Formaldehyde
D. Nylon 6 IV. Tetrafluoroethene
V. Propene

The correct answer is

808 °¢3R 3¢50 chedw
De - | (FOHE) 2D -1l ( DS e B)
A. BDIS [ 1,3-205e08ond & ROS
B. 2358¢& 1. s&ferf0
C. 2085-S . DTS & o) erd
D. Serd 6 IV. BTrTSHHS

V. DS
Blel I To NN TNV S P
Options :
28393617881, ®* A=IV : B=II; C-1III; D-1

12393617882 ¥ A—V 3 B-1III; C-IV; D-1I
18393617883 v A—1IV ; B=1lII; C-1; D-1I

28393617884, * A=V ; B-1; C-III; D-1I

Question Number : 152 Question Id : 2839364472 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The components of lactose molecule are

825 @S 905N
Options :
[ —D—galactose , f— D— Glucose

28393617885, ¢ B—D—TO8E, f—D-IrsS

a— D — galactose, @ — D— Glucose
28393617886, % @ —D—TO8E, a—D— s

[ — D~ galactose, a — D — Glucose
28303617887, % B—D— TO§eE, a—D— irees

Two f—D— galactose units
28393617883, ® 0O f—D— mefes ohrdey

Question Number : 153 Question Id : 2839364473 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

List — I (Drug) List-1I (Type of chemical substance)
A) Norethindrone [  Antacid

B) Morphine I Non — narcotic analgesic

C) Aspirin [l Artificial sweetening agent

D) Cemetidine IV Antifertility drug

V Narcotic analgesic
The correct answer is

BO8 73R 2385w

e - | (Ho) D& -1l (B AHS Herdb¥o)
A) TOOS|IES I &) DEE
B) 3838 1 &°Q - 08638 Jard D8
C) e5088 [l Ey|830 358
D) 2SAES [V 5810858 SHocw
V 8,¢38 Qs
R0 RPN
Options :

28393617889, * A—IV,B-I,C-V,D -1

28393617890, ¥ A — Mm.B-LC-II,D-V



28393617891 ¢ A—IV,B-V,C-II,D -1

123393617892, # A=TILB-V,C-1, D-1I

Question Number : 154 Question Id : 2839364474 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Compound A gives p-chloroacetophenone with acetylchloride in the presence of

anhydrous AlCl; as major product. What is the product formed if A is made to react

with sodium in the presence of dry ether?

A ©5 350¥%0 @ AICL H05085° JDBS TO6 &, p-SEI0E DS ™ D 105
&e5 350 BT, A & @7 S5 HHE oS FAHOS HEsSToB0DI %

DEIVE 51510 DE?
Options :

Toluene
28393617893, % E'OS

Diphenyl
28393617894, ¥ BPDO

p-Chlorotoluene
28393617895, % P-SEEOS

Sodium phenoxide
28393617896, % RO DITFIE

Question Number : 155 Question Id : 2839364475 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which one of the following is a secondary alcohol?

1806 3" A& DE0ES e HFS?
Options :

2-methyl-1-Propanol
28393617897, % 2-DBS-1-EFDSS

2-methyl-2-Propanol
28393617898, % 2-a0BS-2-EFDSS



2-butanol
28393617899, ¢ 2- 20§EISS

| -butanol
28393617900, % 1- 205EIS'S

Question Number : 156 Question Id : 2839364476 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

CH,CO,H AICI,

> X

phenol >Y (Major)

The incorrect statement about Y 1s

CH,CO,H Al

phenol > X >Y (D5ed)

Y 50 Q020800 OO OB s 570
Options :
It undergoes reduction with H,N—NH, / KOH, glycol, A

58393617901, ® 2@ H;N=NH,/ KOH, 35S, A & § abh56e0 Todeod

It gives iodoform test
28393617902, % RO WADEID HOE AWOH

It liberates hydrogen with Na metal
28393617903, % A Na 8508 FREES & Dehocde> Tt

Conversion of X to Y 1s Friedel-Crafts reaction

5, e
28393617904, ¢ X0 Y T SFOR (DAS-(5 WS

Question Number : 157 Question Id : 2839364477 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
When benzene is treated with carbon monoxide and hydrogen chloride in the presence

of anhydrous aluminium chloride it gives a compound X and the reaction is called Y.

Xand Y are

BOES D 5°8)S IrBIE HOAD FEBS T6 & ey eweriaddado SB&H

DNE 0 585 230D BB He01d0 X B 585 Y eond X, Y en
Options :



Benzaldehyde, Gatterman reaction
28393617905, % BOZDTIE, medD HS 935

Benzoic acid, Rosenmund reaction
28393617906, % Z0E 008 &R0, B2S Ho& s

Benzaldehydg. Stephen reaction
£8393617907. % BOFYTFE, DS 985

Benzaldehyde, Gatterman-Koch reaction
28393617908, ¥ 50&3"@?5. H‘E.}S &'1)5@55 tﬁég

Question Number : 158 Question Id : 2839364478 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the acid formed when methyl magnesium bromide reacts with CO> followed

by hydrolysis?

BSOS DHYNADO (B DE & CO: & 585 20D 3507568 220 DFAD T N ©DOT
€300 &7

Options :

Methanoic acid
28393617909, % WASOWE &0

Ethanoic acid
28393617910, ¥ ROS00E e300

Propanoic acid
28393617911, % PO 00T e35ho

Butanoic acid
18303617912, % 2VEISONS @O

Question Number : 159 Question Id : 2839364479 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The correct order of basic strength of amines in case of methyl substituted amines in

aqueous solution is

BOITSIRD0S DFO (DBT DS oS © 578 ered DB |ED0o
Options :



28393617914, % (CH3)2NH > CH3NH>> NH; > (CH3);N

18393617916, % CH3NH2> (CH3)NH > (CH3):N > NH3

Question Number : 160 Question Id : 2839364480 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Benzene diazonium chloride on reaction with compound X in the presence of acid

forms a yellow colour dye. What is the compound X?

BoES HOHEV0H FBE 0 X @989 I302FI08 €360 HenB.0eS" 555 23800 DY)

S0t SQ 19550 BB, DTV X 28?
Options :

Phenol
28393617917, ¥ PT'O

Aniline
28393617918, ¥ QO™

Naphthol
28393617919, % O

Benzaldehyde
28393617920, * B0 Q G





